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1. Within 30 minutes of the issue of the Question Booklet, check the Question Booklet to
ensure that it contains all the pages in correct sequence and that no page/question 1Is
missing. In case of faulty Quesfion Booklet br-ing it to the notice of the

Superintendent/Invigilators immediately to obtain a fresh Question Booklet.

Do not bring any loose paper, written or blank, inside the Examination Hall except
Admit Card without its encelope.
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A separate Answer Sheet is given, It should not be folded or mutilated. A second Answer
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6. No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No.

(if any) on OMR sheet and also Roil No. and OMR Sheet No. on the Question Buoklet.
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taken a5 unfair means.
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guidelines given on the first page of the Answer Sheef.
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17U/116/20(Set-2)
No. of Questions : 200
WA B ST - 200
Time : 24 Hours ] [ Full Marks : 600
o : 24 g [ qorty: 600

Note: (i) Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

stepifeE ue @ 7 B B WACT DIVK | TS 799 3 () T @ E
mw?ww%mwwmmfmaaﬂﬁﬁmmw
I wry |

(i) If more Lhan one alternative answers seem to be approximate to the
correct answer, choose Lhe closest one.

oy wERe dwfas TR W I B Fwe Wi & @ Reeas aft o 2

(iit) This paper comprises of four Sections : Mental Ability and General
Awareness, Chemistry, Physics and Biology (Botany and Zoology). Each
Section contains 50 questions.

W T R OgR @ve ¥ AERG argar gd 9§, e R,
Hiftrer e 9 Sl g @iy o e fem) | s@e @ve § 50 e

SECTION -1
GUE ~ |
(MENTAL ABILITY AND GENERAL AWARENESS)
(R A U WW_ETT’T)
1. Which country is known as "India of Europe" ?

(1) Spain (2) PFrance (3) Taty (4) Portugal
7RG B ART B T A PG G A @l 2 7

(1) = @ww @) wR @) g

(1)
P.T.0.
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17U/116/20(Set-2)

2. Which one is not correctly match 2"

(1) Darjeeling-West Bengal (2) Mount Abu - Rajasthan
(3} Kodaikanal-Tamil Nadu (4) Shimla-Uttar Pradesh
9 8§ P e el T 7

(1) T —go qma (2) ARVE 31q — TR
(3) ®isEFae - dfieg (4) Rmer - 3w 3=y

3. In Computer Language, how many bytes are in one megabyte ?

FgER F) 9 N g Amarse % R we @ # 2

(1) 1,00,000 (2) 10,00,000 (3) 10,24,000 (4) 10,48,576
4. Which country is known as the Land of white elephants' ?
(1) Laos (2) Thailand (3) Kenya (4) Myanmar
b6 3wt w2 B 4 & T Y o e @ 7
(1) "R (2) urdls (3) &l (d) =R
5. "Entrance of Asia” is:
(1) Saudi Arab (2) Taiwan (3) Turkey 4) Japan
T & Y49 gR° Pgela 2 -
(1) THd e (2) arFer (3) T (4) S
6. Presidential election is controlled by :
(1) Lok Sabha Speaker - (2) Prime Minister
(3) Election Commission (4) Minister of Parliamentary Affairs
Il e &1 gAm weifT fn o @
(1) SNTEHLE FRI Q) TR ERT
(3) fafe= s &R (4) WY A B Al GRY

7. When joint meeting of Lok Sabha and Rajya Sabha are being held ?

(1) When President callS
(2) When there is opinion difference in Lok Sabha & Rajya Sabha

(3) When parliament Session begins

(4) None of these
(2)
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10.

17U/116/20(Set-2)

FARBEHT § R @) YT d5F Hq B 8 7
(1) Igufd 5@ gaTg

(2) GATHEHT U TR # Aa9E g W

(3) GOE @1 9F YO R W

(4) T & PIg T

By which constitutional Amendment Act Fundamental Duties are incorporated
in constitution ?

(1) 42nd Constitutional Amendment Act, 1976

(2) 43rd Constitutional Amendment Act, 1977

(3) 44th Constitutional Amendment A&, 1978

(4) 45th Constitutional Amendment Act, 1980

fow W deter e g wftam & 7@ wdal o wfsfe far mm 2 ?
(1) 4247 HauiFre done P, 1976

(2) 434 waenfee wegw sfdfm, 1977

(3) 444, Wdwnfe wees s®frgs, 1978

(4) 4591 St v P, 1980

Gobar Gas mainly consist of :

(1) Methane (2) Ethelene

(3) Acetelene _ (4) Carbon Monoxide

M a4 gE=ze BT € f 8

(1) four | 2 T

(3) wefee (4) W R ST

From the following which makes milk sour ?

(1) Protozoa (2) Bacteria (3) Virus (4) Nematod
forafofes § & s g P Wg Bar ¢ 2 '

(1) e (2) QR (3) dIRE @) Priere

£ P.T.O
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17U/116/20(Set-2)

¥,

12.

13.

14,

15.

16.

To make curd which MiCroorganism is used ?

(1) Acetobacter (2} Leukonostoc (3) Bacillus (4) Lactobacillus
8 TR A Prefarfe ¥ 2 Ry gl @ s far s @ 2

(1) yRSigey (2) mie®m  (3) afder (4) e afie
Cause of A1DS is

(1) Bacteria (2) Fungi (3) Virus (4) Amoeba
Q& BT PRV 2 .

(1) sFfa (2) wwRdr (3) Ty (4) arfia
Which is the first state in the country to open a Blood Bank for Cattle ?

(1) Goa (2) Kerala

(3) Odisha (4) Andhra Pradesk

(7 3 w1 wdw wuy @ R Teeit @ R “as-da #t wm # 7

(1) = (2) X

(3) «hise () 3y udw

Which country will host next Champions Trophy in 2021 ?

(1) 5ri Lanka (2) Australia (3) Bangladesh (4) India

2021 % B arer A=y godY - 2021 @1 e P A fr 2w E B ?

(1) ST (2) Fmegfar (3) FTERY (4) YRS

At which of the following place union cabinet of India has approved to
establish a centre of International Rice Research Institute ?

(1) NOIDA (2) Kanpur (3) Varanasi (4) Pantagar
ART @ WU AfHed ¥ A A fbe wie W amRI g ey wReRr (IRRD)
P P B WG B B wpty R P

(1} A= (2) BTG (3) TRRA (4) HaTR

Who is the author of the book "Winning Like Virat : Think and Succeed like
Kohh" ?

(1) Uday Mahurkar (2) Abhirup Bhattacharya
(3) Rajesh Jain (4) Arvind Adiga
gee b amEw R : Ris 1wt TED PR @ qGF B § ?
(1) % T ) S
(3) X9 S (4) s aiferm
{4)
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17U/116/20(Set-2)

17. Which among the following SAARC nations did not figure in the "World
Happiness Report 2017" ?

(1) Pakistan (2) Bhutan (3) Afghanistan (4) Maldives
O 29 § B ¥ S 2 e dudiee Ra - 2017 A S R 7
(1) o (2) ™ (3) IFTAREE  (4) FeEE
18. Which one will replace the question mark (?) ?
= & v e () @ v W o e ?
(1) 36 (2) 48 (3) 38 (4) 30
18. Find out value of 7 in following :
ffr= % ? &1 w9 T @ ?
| 12:30::14:2
(1) 30 (2) 28 (3) 35 (4) 42
20. Which of the following crop is not ufilized for commercial production of edible
oil ? v
(1) Wheat (2) Rice (3) Sunflower (4) Maize
ﬁwﬁﬁ-ﬁrwwﬁmmﬁm—éﬁ%w*m@wﬁwg?
(1) 7§ (2) & (3) sorgedt (4) 7T

21, The difference between cow's milk and buffalo rﬁ;lk is thét 3
(1) Milk of cow is white but buffalo milk in yeleswish in colour.
(2) Milk of cow is yellowish bat.bullalo milk is white in colour,
(3} Milk of cow is yellowish in colour but it contain more fat than

(4) Milk of cow is white in colour but
milk.

_ Wftfalo milk
it contain low amount of fat than
e buffalo

(5)
PT.O.
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17U/116/20(Set-2)

TR B gy AR A & gy N Rftrr Prefifeg 2
(1) T & Y & 37 9Pz q9T WY & g BT I Qe frv E@nr
(2) Waﬁli?m%qﬁm?mﬁiﬁﬂmqymﬁm Zicl & |

(3)?W@mﬁmﬁﬁﬁdﬂlﬁ'ﬁﬁdmfﬁwﬁﬁ*@ﬁmm
f

(4) T @1 QU WWT T B S ¢ aw s g\ B e R @ oqu & aw a2

22. In the following chart given characters follow a certain trend, row wise or
cotumn-wise. Find out the missing character (?) accordingly :
T RE T od § ensa ® @ ww ¥ RY M wwyl ¥ v AfYad a2 zw
Im_% TR IER WHY (7) B WFH R @7 8 ?

A | D - H
F | M

l ; N R |
() K (2) N (3) O (4) P

23. A girl facing north rotates 100 degree clockwise then 190 degree anticlockvise.
What is new direclion of the girl ?
(1) North-Fast (2) West
(3) South-West {4) South
U6 @ed @ §8 TR Y &) 3k 21 ® 98 B gE B ag@r 100 Bl gEd 2y
fiw a8 ud) ) g & e wm # ok 190 RN et 21 o Tsal &1 47
femag?
(1) SR-gd & IR (2) uf¥es @ 3R
3y wfRro-afem 7 ek (4) =& 3 R

24. Which of the following is most energy-efficient source of light ?
(1) Tube light (2) CFL (3) LED (4) Tungsten Bulb
mﬁmwﬁﬂaﬁtﬁm—m@mﬁa%?

1) @ e () o THo g (3) ¥Fo fo Fo  (4) TEA Tew
_— Jdto12in the same way as 5915 related to ;
25, IS (2) 38 (3) 26 (4) 14

(1) 47
(6}
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27.

31.

17U/116/20(Set-2)

MUF TEY 12F I PR F L W F 59 7 g R
(1) 459 (2) 389 (3) 269 {4) 149

A is B's sister. C is B's mother. D is C's father. E is D's mother, Then how is A
related to D ?

(1) Grandfather " (2) Grandmother

(3) Daughter (4) Granddaughter
ABRTHZICBHRHRID CoHfRard| E, Daﬁﬁ?%lsﬂﬂwﬁﬁﬂﬁgw
D¥ I | 8 7

(1) qrar ¢ ) = 2 (3) = 2 (4) TfrF 8

The average of five consecutive odd numbers is 61. What is the difference
between the highest and lowest numbers ?

e 4w Frr Rww demslt @ shad 61 2, @ vt ofde w9 wE 39 wensd
&1 IR = F 3 B ? -

1) 6 (2) 4 | (3) 16 (4) 8

Today is Monday, after 61 days it will be :

(1) Tuesday (2) Monday (3) Sunday (4) Saturday
iR A WER 2, o 61 R B a5 PF-w R @i ?

(1) #dar (2) W¥ER (3) <Prare (4) wfER

Which word will come in the middle if all of following are arranged
alphabetically as in the english dictionary ?

uﬁ#ﬁﬁ'&wﬂm*uﬁﬁmmm$wﬁmﬁmﬂﬁwﬁmm
o PH-J T FA H AT 7
Donkey, Donator, Donjor, Donate, Donative

{1) Donkey (2) Donator (3) Donjon @ Donative
What should came next in the following letter sequence ?
fre ot & ®W A ST T M 7 -
AABABCABCDABCDEABCD
(1) A (2) E i . 3) C (4) B
How many states are there ir India ?
e ¥ e T & 7 2
(1) 29 @ 2z (3) 28 (4) 25
(7)

2T.0.
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17U/116/20(Set-2)

32. The highest literale state of India is :

(1) Mizoram (2) Goa (3) Tripura (4) Kerala
RO @1 Goied Bt wog
(1) fasires (2) T (3) Bgwr (4) A

33. Industrial Revolution started in England in :
(1) 16thcentury  (2) 18thcentury (3) 17thecentury  (4) 19th century
gdtvs 3 Sienfa wif yRew g8 -
(1) 164 s 3 (2) 1841 T ¥ (3) 179 e & (4) 1941 vard A

34. NNPis equal to:

(1) GNP + Depreciation - (2) GNP - Depreciation

(3) GNP + Exports (4) GNP - Exports

U U 4] R/ B @

(1) o 7+ &9 (2) of o1 91 - 8

3) o TF @ + Paf (4) < w1 Q- Fyate
35. The largest Indian State by area is :

(1} Madhya Pradesh (2) Maharashira

(3) Utiar Pradesh (4) Rajasthan

SEG B AFUR WA T FIE 991 T § ¢

(1) =4 H=9 (2) eI

(3) W WY (4) ToREIE

36. World Population Day is observed on :
(1) June>5 (2) July 11 (3) October 4 (4) December 10

foe G fdaw AT T &
(1) o5 @ Gl (3) SR (4) REwvI0 @

37. Pointing (o an old man Sohan said, "His son is my son's uncle”. How is the old

man rel ated to Sohan ?

(1) Father
(3) Brother

(2) Grandfather
(4} None of these

(8)
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38.

41.

17U/116/20(Set-2)

S ge AW A AR I TR §U AEA FEcT 8, IEST dsd W TSD & [l
21 g8 qg1 e dligd 4 By yar deidda 8 ?

(1) R (2) wm=

(3) g  (4) 3 A gB N 7

If 3rd December, 1990 is Sunday, what day is 3rd January, 1991 ?

(1) Tuesday (2) Wednesday  (3) Thursday (4) Friday
i} 3 R, 1990 AR 2, o 3 G, 1991 af-ar fRwr 8 2

(1) HTeER (2) AR (3) T¥aR (4) gPaR

A class starts at 11 :'00 am and lasts till 2.27 pm. Four periods of equal duration
are held during this interval. After every period, a rest of 5 minutes is given to
the students. Thus, the exact duration of each period is :

(1) 48 minutes (2) 50 minutes (3) 51 minutes (4) 53 minutes

TS Fe fed & 11 : 00 97 | 7Ry e 2 qwiax 27 five 7% godl &) 39 R
W WH A @ TR uve B ¥) yde 9ve @ gverg el @ 5 e w R
R o 8| 59 VO, TS U @) §e a8

(1) 48 fe (2) £ e (3) 51 e 4) 53 fame

In a dlass of 60 students, the number of girls is twice that of boys. Kamal, a boy,

ranked seventeenth from the top, If there are 9 girls ahead of Kamal, the
number of boys in rank after him is :

60 BT @ wE H, Tefral B Wen wedl § 1 81 DH, vl VT de@r & i

H wEd WM R 2 AR A asfRal vva Q@ e g O v we A Sus 8
S B HeEm &

1) 3 @ 7 (3) 12 4) 13
The Union Budget 2017-18 was presertted in Parliament of India by :
(1) Shri Arun Jaitley (2) Shri P. Chidambaram
(3) Shri Manmohan Singh (4) Shri Narendra Modi
WWESZU]?—IBWQE "R Hag ¥ g ey mar ?

(1) # s Seah | (2) # Mo Rraws

(3) o #Ee fE ' (4) A 5 A

(9)
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17U/116/20(Set-2)

42.

43.

47.

49,

In India, Shri Ram Nath Kovind has been elected as :
(1) 12th President (2) 13th President (3) 14th President {4} 15th President
R A, o vwT Sifd @Y g TR

1) 123 vgufe () 133 wgafy (3) 144 wsulR (4) 1597 ogufdy
From which date Goods and Services Tax (GST) has been implemented in
India ?

(1) 1April, 2017 (2) 1May, 2017 (3) 1June, 2017 (4) 1]uly, 2017
ara ¥ 5 A § =g w6 FAER (SHotwodo) AR fam 74w 2

(1) 138, 2017 (2) 1% 2017 (3) 130, 2017 (4) 19, 2017

Find the odd one from the following :

fopes # | a¥ @7 9 STTRE *
(1) 16 {2) 80 (3) 64 (4) 36

1f NQXG means LOVE, then ECMG means :
af NQXG #7 & LOVE & @ ECMG &1 ¥4 &€m

(1) CALF (2) GOOD (3) CAKE (4) CALM
The planet which is closest to the earth is: o

(1) Mercury (2) Mars (3) Neptune - (4) Venus
T2 TE W gl B WA OB 8, B

(1) 3 (2) " (3) e 4) %
Which of the following is not a language of Computer Programumning ?

(1) WINDOWS  (2) PASCAL (3) BASIC (4} COBOL
frem & F B Fvger wofd @ A FE 8 7

(1) R (2) uREhel (3) I (4) T

IC chips in Computer are made of :

(1) Lead (2) Silicon (3) Chromium  (4) Gold

Wﬁméﬁmlcmﬁia@ﬂﬁﬁ?
(1) S (2) fafere= (3) wIfPrs (4) |

If a train of 200 m long running at 60 km/hr then how many seconds will it
take to Cross another train of 300 m long running in opposite direction at a

hr?
?{T Esd ;fcg{] ol (2) 14 sec. (3) 9sec. (4) 12 sec.

(10)
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52.

53.

17U/116/20(Set-2)

TF T O 200 Fo R # vy 60 o /HE B R F dvA 8 9w g
¥ W 300 #o = R gun Ruda R § 90 fFflo/oR & T F Bedt 2 &
R FRAT

(1) 8%  (2) 4% 3) 990 (4) 12 Qo

Find out the average marks scored by 3 students together, if in an examination
Saumya scored 40% marks, Raju scored 80% marks and Riya scored 624 marks
and the maximum marks are 800 :

3 Rrenf¥al grr s R 12 alvga o @ Togy A ve ofem F W | 40% 3%
s ), XTo W 80% i T RaT ¥ 624 3w T Yt sie o 800 F -
(1) 500 () 528 (3) 623 (4) 510

SECTION - II
gue ~ |l
(CHEMISTRY)
(FETT fagm)
Half-life of a reactions is found to be inversely propertional to the cube of initial
concentration. The order of the reaction is :

U IffRn @t aplary, P wmer @ ww @ epesweuidE o o 3
s # aife &

(1) 4 2) 3 3) 2 (4) 5
1% solution of KCl is dissociated to the extent of 80%. What would be the

osmotic pressure at 27°C (R = 0.0821 L atm K™ mal™; mol. wt, of KCI = 75.4
g/ mole)

KCl #7 1% fdags 80% @ W 6@ o 21 27°C R TRERY 9 ®y e
(R =0.0821 L atm K™* mol™, KC1 &7 3[R = 75.4 g/mole) ?

(1) 8.21 atm (2) 182.1 atm (3) 5.95 atm 4) 59.5atm

Which of the following is used widely in the manufacturing of lead storage
battery 7 | T

(1) antimony (2) lithium (3) arsenic (-4) bismuth
e weR 3ed @ Ffv 3 Frefofe & @ Reviar avm w5 9wk gy 2 2
1) @ @ I o) a4 ey

1 PT.0
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17U/116/20(Set-2)

94. Acetone is mixed with bleaching powder to give :

(1) chloroform (2) acetaldehyde
{3) ethanol (4) phosgene
@M TR & Wy Ther B e @ dar &
(1) eFRSH (2) v
(3) wre (4) wfed
5. Most reactive towards electrophilic nitration is ;
(1) benzoicacid (2) nitrobenzene (3) loluene (4) benzene
FAdIBA® qrgeee e sk arafe frarde 2 2
(1) g6 apa (2) ~I3gHwi (3) eiegg (4) Al
96. Important ore of zinc is
(1) calamine (2) cryolite (3) cassiterite (4) malachite
R @ RETIY0] HOXT

(1) Do (2) HREEEe (3) @¥ICIES (4) HaFiEe

7. Hydrogen gas is not liberated when the following metal is added to dil HC! -
a3 HCl 4 foeifofia & @ fra g ) e & eegiom g qee @ adr & 7
(1) Zn (2) Sn (3) Ag (4) Mg

58. The hardness of water is estimated by :

(1) EDTA method
(2) lodometric method

(3) lodimetric method
(4) Gel Permeation Chromatographic method
S @ BORAT H dide [ S @

(1) EDTA o g~
(2) smaeriRe i EX

(3) mhi&fre Ol g
() RETe aeThe AR grI

(12)

gcollegeduniaa
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61.

62.

63.

65.

17U/116/20(Set-2)

‘Which of the strongest acid in the following ?

f=forfleg & w4 vae anet - & 7
(1) HCGIO, (2) H,50, (3) HCIO, (4) H,SO,

Dunston's test is used for the identification of :

(1) glycerol - (2) acetone (3) glycol (4) ethanol
6T P GO fPE e B B R wam A & 2

(1) fereia (2) wie 3) TRS (4) TR

Insulin is

(1) acarbohydrate (2) an amino acid
(3) alipid (4) a protein
o & |

(1) & sHtEEse (2) T& AT oRve
(3) v fofie (4) v® 9

The number of S-S bonds in sulphur trioxide trimer (5,0,) is :

oY grEsiage fonR (S,0,) ¥ S-S dive @ e ¢

(1) 3 (2) 1 32 4 0
The process of vulcanization makes rubber :
(1) Soluble in water (2) Hard -
@) Soft (4) Less elastic
O FiaT TeR @ g9 §
(1) o % gode (2) W
(3) Fam (4) @r-hemR
Which of the following polymers has amide linkages ?
(1) Nylon (2) Teflon (3) Terylene ) Polyy
e : 5 th
PrforRen 3 % ol ag@ 3 ViTvw g o & Sk
(1) e (2) 2l (3) 29fer 4) Yiomfiem
Which of the following polymers hag ester linka'ghe;':?' |
(1) Nylon (2) Bakelite () TeY—a_ (g e
(13)
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17U/116/20{Set-2)

fFrafafad 4 9 B agoe ¥ Wex WaoA g v & 2

(1) e (2) d&wmEe (3) fem (4) A
66. The monomer of natural rubber is :
(1) Chloroprene | (2) Isoprene
(3) Butadiene (4) Acrylonitrile
Ugfe AR B [HAD &
(1) FeRd (2) T
(3) HereEa (4) UHEAELES
67. The compound having one isopropyl group is:
(1) 2,2,3, 3-tetramethylpentane (2) 2, 2-dimethylpentane
(3) 2,2, 3-trimethylpentane (4) 2-methylpentane
TF amgEmiis WE 2F & 9ifs ¢
(1) 2,2, 3,3 Ramgenie (2) 2,2-Trgfengade
(3) 2,2, 3-zTEfhnEayer (4) 2-RergeeH
68. Optical rotation of a racemic mixture is:
(1) Positive (2) Negative
(3) Zero | (4) Temperature dependent
% WftE Mo @ difcda 2T €
(1) HHRAD (2) THRTHD
(3) T (4) TT9HT R
69. The IUPAC name of the compound HC=C-CH,CH=CH, is
(1) 1-penten-4-yne (2} 1-pentyn-4-ene
(3) Allylacetylene (4) 1-pentene-5-yne
HC=C~CH,CH=CH, @1 IUPAC 7 % :
(1) 1,:3'&'{1‘1—4-31'@7{ (2) 1- T4
(3) et (4) 1-4Tr-5-9mgT
70. The most strained cycloalkane is

Jdopropane (2) cyclobutane  (3) cyclopentane (4) cyclohexane

(1) Q‘TW (2) qué:’ (3) WEaEH (4) wgTEETe

(14)
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71. The correct order of stability of the given radicals is :
(1) tertiary > secondary > primary (2) tertiary > secondary < primary
(3) tertiary < secondary > primary (4) tertiary < secondary < primary
&2 2 qore @ wnfcg &1 Wél B 8 :

(1) Jas > 7rafis > e (2) T > Angfie < TS

(3) Tdraw < wRafdS > wufie (4) Tae < wEafs < e
72, Foliowing reaction is known as CH,COCH, i CH + H,0.

conc. HCI

(1) Rosenmund'’s reaction (2) Clemmensen reduction

(3) Wurtz reaction ' (4) Kolbe's reaction

Frfofae sifhfdar @ e o @ CH,COCH, —2"—-58 , c.1, + H,0.

conc.HCI
(1) J57qs &1 i (2) TR YT
(3) gew sifyfear (4) DR B FFAfE

73. Which of the following statement is false about benzaldehyde ?
(1) It reduces Tollen's reagent
{(2) It undergoes Cannizzaro reaction
(3) It undergoes Aldol condensation
(4) It forms sodium bisufphi te adduct

arffeesse 9§ Hefi e-ar S=falea s o &
(1) we < sfeds #Y yoeflds sar 2

(2) T% SR kg doi &

(3) T8 YeeT HoT ¥

(4) T8 WI$TR FEIPRET (ST 977 &

74. Nitration of nitrobenzene gives :

(1) 1, 2-dinitrobenzene (2) 1, 3-dinitrobenzene

(3} 1, 4-dinitrobenzene {4) 1,2, 3-trinitrobenzene

e 7 g ¥

(1) 1, 2-SE gz T (2 LRI NG

(3) 1, 4-STEEEIROI (4) 1,2, 3-Tmephaotny
(15)
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75. Which of the following is an example of thermoset polymer ?
(1) Rubber (2) Nylon-66 (3) PVC (4) Bakelite
T 8§ @191 ¥ERie a5FF B TP SEENT € 2
(1) =& (2) HIYeATH-66 (3) 9 (4) IdagE
76. Which of the following is a Natural polymer ?
(1) Bakelite (2) Nylon (3) Proteins (4) PVC
Fret & & @la-al go T80 9goo & 7
(1) IBerge (2) T (3) W (@) & A
77. BunaSisa:
{1) Monomer (2) Trimer (3) Co-polymer  (4) Dimer
Buna-S & & :
(1) Joer® (2) gIE™ (3) UEdgED (4) SE
78. Ethane is produced during the clectrolysis of potassium salt of :
(1) Succinic acid (2) Malonic acd
(3) Acetic acid (4) Fumaric acid
WO RS UeRE @avl @ Rgyd AudgeT 4 S R o @ 7
(1) wfeafe s/ (2) Feife e
(3) TRew oFe (4) TR I
79. Which of the following compounds exhibits cis-trans isomerism ?
(1) 2-Butene (2) 2-Butyne (3) 2-Butanol (4) Butaral
Bnfaie B eA-F1 A0 cis-trans FAGTIA yaftia wvar & 7
(1) 2927 (2) 2-=FCTE (3) 2-wgere (4) e
o
80. TheIUP AC name of the compound H.C -(ll-CH=CH1 is :
CH,
, 3 Trimelhylpropane @) 1,1, 1-Trimethylprop-2-ene
(1) 3.7 () 2,2-cimethylbut-3-e
; b{t‘l'ﬁ‘ﬂe ’ ylbut-3-ene
3 3 3dimety

(16)
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CH,

H3C4]:-CH=C112 H1 [UPACH 2 ¢
I

CH,
(1) 3,3, 3-grEfFugeavied 2) 1,1, 1-grsfRumgey-2-89
(3) 3, 3-sEfRengeye-1-§7 @) 2,2-sEfhemgeee-3-51

The ozonolysis of 2, 3-dimethylpent-2-ene produces :

(1) Two molecules of aldehydes

(2) Two molecules of ketones

(3) One molecule of aldehyde and one molecule of ketone
(4) Neither aldehyde nor ketone

2, 3-TRAUEAIT-2-39 & s dal § ¢
(1) vfeses & <1 a1

2) BT B 2 3

(3) Yesess &7 ¢o 3 AR PITH T (B ]
4) 7 a vfieeess air 7 & P

Geometrical isomerism is shown by :

(1} Alkanes (2) Alkengs

(3) Alkynes (4) Aromatic hydrocarbons
WA AT e srar #

(1) T g1 (2) T g

(3) TewIET NI (4) WERT EEgeEa g™

The hydration of propyne in the presence of Hgm:m-ﬁﬂh produces.
yrreT @1 HgS0,/H,80, & saRufy § woriaw ¥ 2 -
(1) CH,CHO ) CHCH,CHO (3) CH;COtH,  (4) HcHo

Acetylene is produced by cﬁrrjfing out electrolysis of potassium sait of :
(1) Acetate ‘ _(2? Succinate (3) Fumarate (4) Oxalate
wfeem fraa oRfiey W%.ﬁqﬁw-ﬁw%mmg.

(1) g@ee - 2) W @ Tge & Siforae

(17)
P.T0
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85.  Which of the following molecules has ail the three sp, sp® and sp° carbon

atoms ?
FriRes & & 5% o 3 Wil & sp, sp? sk sp? BT wxmm 2
(1) CH,=CH-CH=CH, (2) CH,-CH=CH-CH,
(3) CH,-CH=CH-C=CH (4) CH,CH,CH,CH,
86. The cyclic polymerization of acetylene produces :
(1) Benzene (2) Cyclohexane
(3) Toluene (4) 1,3, 5-trimethylbenzene
vRifeelia &1 sty agadieRr 3 @
(1) ¥ (2) WgFAEERTT
(3) =IIEA (4) 1,3,5-FgRemgasoi
87.  Which of the following compounds reacts with ammonical solution of AgNO; ?
(1) 2-Butyne (2) 1-Buiyne (3) Ethene (1) Ethane
Prefefan @) & @ s AgNO, # sy Bid & |eF vhfda s @ 2
(1) 2-agergw ) 1-eTE (3) vl (4) va
88. Which of the following pairs give positive Tollen's test ?
(1) glucose, sucrose (2) glucose, fructose
(3) hexanal, acetophenone (4) fructose, sucrosc
PrfoRea § Fwr YW gAF T WEw a1 @
(1) "o, G (2) TE[@, HIC
(3) e, YRGB (4) WaeHE, @'y
89. Benzamide on treatement with POCL; gives:
(1) aniline (2) benzonitri‘le
Fomrse POC), & el &1 &
2) EAHIZCISE
(1) Tl o i
(3) TR
,7ar0's reaction is nol given by :
gp. The Cannt# aHehyde (2) acetaldehyde

(1) n-imethy"‘ ace

1) formaldehyde
) penzaldehyde X

(18)
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HFERT Iwfhar 78 qar 8 ¢

(1) gEaiee vielesmss (2) ufefecags
(3) dwfesess (4) prfeeETgS

[somers which can be interconverted through rotation around a single bond
are :

(1) conformers - (2) diastreoisomers

(3) enantiomers (4) positional isomers

IEAY Wi YA @ ART AR g A siovaRaffa a9 ¥ o wed €
(1) BTErer (2) SEEERIETERY

(3) TG (4) drfeqe smsaEd

Types of bonds present in CuSQ,. 5H,0 are only :
(1) electrovalent and covalent
(2) electrovalent and coordinate covalent

(3) electrovalent, covalent and coordinate covalent
(4) covalent and coordinate covalent

Cu80,. 5H,0 ¥ 48 & F#R Tafe & Baq
(1) e w@ e 3
(2) RN Y SRl PiaR

(3) Tderiar, Priee au P A
(4) BA< g FRIMRET e

Which of the following process is used in extractive metallurgy of Mg ?
(1} Fused salt electrolysis
(2) Self reduction

(3) Aqueous solution electrolysis
(4) Thermite reduction

Mg 1 vawslaed Hearoll % Fraffa o Pie 9hbar manr g 4 -
(1) W A g R

(2) W@ e

3) s fews o

(4) yHIge JyTET

(19)
P.T.0,
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94.

95.

96.

97.

When I' is oxidized by MnO;" in alkaline medium, I” converts into :

(1) 10y (2) 1, (3) 10, (4) 107
T AT TR § MnQ), gR1 I sliedian i R 0 T eger §
(1) 10, 4 2) 1, % (3) [0, # (4) 10" #

Among the following, the paramagnetic is :
freiferRag & o mRs 8 °
(1} Na,O, (2) O, (3) N,0 (4) KO,

E° (reduction) values of the half cells Mg* | Mg and Cl,|CI™ are respectively
-2.36 V and 1.36 V. The E° value of the cell Mg | Mg™ | |CL | CiTis :

g ¥ Mg® |Mg w@ CL|CI" 1 E° (s9999) 71 9 -2.36 V R 1.36 V 21
¥F Mg |Mg™ | |Cl, | CI” 3T E® HIFT &
(1) 3.72V (2) 1V (3) 0.18V (4) 264V

When CaCO, is healed ai a constant temperature in a closed container, the
pressure due to CO, produced will :

(1) Change with the amount of CaCOj; taken

(2) Change with the size of the container

(3) Remain constant as Long as temperature is constant

{4) Remain constant even if temperature is changed

@ &5 i § fRX a9 W W@ CaCO, @ ™ fwm wmn & CO, &1 & &R
SRR

(1) CaCO, ® o 7§ 5 # qRadts A gEem|

" (2) g @ @R A aReds R e

(3) Rer 3T 7@ T a™ ReR B
(4}Wﬁ1nuﬁﬁmwﬁﬁai

The values of Vander Waals constant a' for the gases O,, N,, NH, and CH, are
1.36, 1.39, 4.17 and 225 L. atm. mole™’ respectively. The gas which can most
easily be liquified is : |

s O, Ny, NH; it CH, 7 aree @ Reci® % 1.36, 139, 417 afR 225 L.
Y Gy e o @ i A9 A e @

1
?gn ;;D *-' ) N (3) NH;, (&) CH,
2
(20)
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89. The volume strength of 1.5 N hydrogen peroxide solution is :
15N BEgo weiidags fam @ dfeqm Wy 8

(1) 4.8 (2) 84 (3) 3.0 (4) 8.0
100. No. of electrons in 1.8 ml of water is :

o & 1.8 el & gorapt @ Hwr €
(1) 6.02x 102 (2) 3.01 x 10% (3) 0.6023 x 10®  (4) 60.22x 107

SECTION - lil

v - il
(PHYSICS)
(sfa® fsm)

101, The earth's radius is 6.37 x 10° m and the carth is 1.5 x 10° km away from the
Sun. The fraction of radiation emitted by Sun as.intercepted by the earth is :

3ol 1 Iefeare 6.37 x 10° o B R wH A ug 1.5 x 10° fvllo T w ) Wi W
IafA wETe &7 AT A et R g, #

(1) 451x10°  (2) 1.82x10°  (3) 45x10™"  (4) 621x 1072

102. A2 ¥ capacitor is charged (0 20 V and then'cormected across a 6 p H inductor.
The maximum value of current is :

(1) 11.5 Amp (2) 2.0 Amp (3) 133 Amp (4) 95 A
qazpFHlﬁmalmﬁﬁazwmﬁﬂm%m%'ﬁwsuﬂmzpﬁm

o wnem 8 | ORT BT e R
(1) I5PRR (2) 2.0 TR () 55TR (4 9.5 oy

103. A 15 p F capacitor is charged to 60V. The energy stored in the capacitor ig -
0 15 F @ SRE @ 60V 7% o ot 1 GRS ¥ 0ol wort gy

(1) 0.027] (2) 0.039] 3) 0.0547 @ 00%2)
104. The S.L unit of inductance tim&féﬂgdtanceis: -
(1) Second’ (2) Volt "(3) Ohm 0 s
e x aRel B Ve ISy gard §
(1) dve’ (@ T (3) 3’75’7 4 m
(271 | -
PTO.
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105. A car rounds a curve of radius 40 m at 48 km/hr. The centripetal acceleration is :

106.

107.

108.

108.

110. Fora satellite 1

U3 @R 40 Ay 3ol & el gy w48 Bdlo /de @ 7 & g &) s
CEAD T

(1) 4.44 m/sec? (2) 13.22m/sec? (3) 168.7 m/sec? (4) 2.43 m/sec?

A man whose we'ight on earth is 500 N, is lifted to a height of two earth’s radii
above the surface of earth. His weight will now be :

TF e e wR yuft ® 500 N # SN9) Sorew gl B WaE ¥ gl B
Bt @ [ FuE 9 @ @R § | I R 39 8
(1) 500N (2) 1666 N (3) 55.6N (4) 50N

If two adjacent walls and the ceiling of a rectangular room are mirror surfaced,
the number of images of himself as observed by an observer will be :

IR FTAER T W T AmE 9 At Rk wa B wae W IO e
Wi & Nere g o et @ e <l S

(1) 3 2) 5 (3) 7 (4) S

Two masses of 1 gm and 4 gm are moving with equal kinetic energies. The ratio
of magnitudes of their linear momenita is :

1 9T 3R 4 UM @ &) e T T el @ R e} 8 ¥ S e s
& oftwm @7 I 8N

(1) 4:1 (2) 2:1 () 1zl (4) 1:16

An organ pipe open at both ends has a fundamental frequf.ancy 400 Hz. If one
end of the pipe 18 NOw closed, the fundamental frequency will become :

(1) 400 Hz {2) 200 Hz (3) 546 Hz (4) 600 Hz

o g Ao ami RRi S god) § AN SHB 400 TS @ AgRT ¥ R
U@ T o 9= @ R g, o g e |
Maosd @ @) MEES (@) 600 &

n a circular orbit following conditions holds :
(1) Kinetic energy is greater than potential energy

Kinetic A€T8Y is less than potential energy
in . R
8 f kinetic and potential energies ' posihive

4

of kinetic and potential energies i$ negative
(22)

(3) Surr
(4
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UF JAIGR e ¥ g are 9uaE @ fod Pafefeg ol o e &
(1) T al Rufea satf 3 sfes kit 2

(2) afow ot Refow eal @ &y 8 &

(3) Tt vd Reifdrer &t &1 O s By @

(4) 7w W R st @1 9 s g @

11, Thg tim? T required for a planet to complete one revolution about the sun in an
orbit with semi-major axis @ and semi-minor axis b satisfies the following

relation ;
T2 T2 T | T?
(1) -;3— = const. (2) i const. (3) 2 const.  (4) TEs const.

UE UE B G & U yamw oo a7 A T www o 2, o o @ g Q-
AR e @ T FA-AER A b Pl we @ woe wwer S

Tz 3, 5% Tz . T2 TZ
(1) :3—=ﬁem'§ (2) b—3=f¥nr\fr$ (3) ?zﬁmﬁ (4) b—=ﬁem'av'

112, Inaninelastic collision of two objects the following is not conserved :

(1) Momentum (2) Total energy
(3) Kinetic energy (4) Potential energy
<) TR B Sy R ¥ Prafafe @t e 98 s -
(1) ¥ (2) & Tl
(3) 7faw &l (4) Ruftw et
113. 1 mile/hour speed is equal to :
(1) 4.46 m/sec o (2) 0.447 m/sec
(3) 1.612m/sec (4) 3.213 m/sec
19 /vier &t iy e #
(1) 4.46 %o /%o (2) 0.447 %o /o
(3) 1.612 %0 /o (4) 3.213 %te /Bo
114. The dimension of torque issame as that of :
(1) Impulse {2) Momentum  (3) Power ) Energy
) | PTO
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115,

116.

117.

A 9 fm ad & o
(1) Teg B & (2) 9dq $) 2 (3) wifed &t & (4) ! & 8

Two cells of emf's approximately 5V and 10V are to be accurately compared
using a potentiometer of length 400cm.

(1) The battery that runs the potentiometer should have voltage of 8V.

(2) The battery of potentiometer can have a voltage of 15V and R adjusted so
that the potential drop across the wire slightly exceeds 10V.

(3) The first portion of 50 cm of wire itself should have a potential drop of 10V.

(4] Polentiometer is usually used for comparing resistances and not voltages.

SV w1 10V Afde o 90 76 B 2 A @ g ARG BY A 400 Ao

% anrd grr 1 A B )

(1) Srrad) N gyl B ardl ¥ ) decar 8V BN TR

() S B deed 15V @ GHAr & T R @Y E yHR THIRE o8 T &
F aR @ RRY @ fvadre 10V & =gl A e |

(3) wri a% A T 50 S wr W RvEuE 10V 8 TR |

(4) favesd @i IRNT U mﬁW$WW‘dW@M$%H?ﬁI

Four light diverging [roma point source :

(1) The wavefront is spherical

(2) The intensity increases in proportion to the distance squared

3) The wavefront is parabolic

(4) The intensity at the wavefront does not depend on the distance
T R BT A amarRa & e @ ferg

(1) woTy el 2|

(2) Oar gD B 9 B e A wed B

(3) TOTY WRaait® (OR1EES) 2

(4) T 47 e g ™ faR w8 B |

If the time period of a simple pendulum is T its kinetic energy is also periodic
with a time period
v WRIRT A & WEd Fa T & @ Sual viow FA & smaddl e e

T T
(1) 2T 2E ©) 2 4) 4

(24)
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118. When a horse pulls a cart, the latter moves because of :
(1) The frictional force due to the road acting on the cart
(2) The frictional force due to the road acting on the horse

(3) The pull of the horse on the cart being greater than the force of reaction on
the cart

(4) The pull of the horse being greater than the force of reaction on the horse
e TS M B Hiwar 2, a1 T e wwer & i B &

(1) wew & o 90 & T W fFar v

(2) Fe@ @ o¥v 98 @ O w fFar v Q

(3) ¥ ERT FE F1 7 T W o a1 Wb g § o 2 @ e
(4) =R BT Wiem BT 79 O R AT A@ WK 99 @ oRe &8 @ et

118. In a Young's double slit experiment, the source is white light. One of the holes
(s covered by a red filter and another by a blue filter. In this case :
(1) there shall be alternate interference patterns of red and blue.
(2) there shall be an interference pattern for red distinct from that for blue.
(3) there shall be no interference fringes.

(4) there shall be an interference pattern for red mixing with one for blue.

o & Gl wivt # e v gow @ 2| ve By @) e eew A @ fEm T
¢ 3R T @ o feer 9| 59 g ¥

(1) = a2 Aol I B e afgavr de g

(2) @ T A N B YAB-S [ AfAHIT Hew g )

(3) %% A awfawzor Mo =¥ Bl

(4) @ 37 0 g @ e o we Hie v A 99 ted & Bfdw 2

120. lHoleis:
(1) ananti-particle of electron.

(2) a vacancy created when an electron leaves a covalent bond.
(3) absence of free electrons.

(4) an artificially created particle.
B B B
(1) FeRIT ST AT s
(2) wEHEh iy A TF TEH Y Bew W W 99T Rty
(3) T goidgil @ PR
(1) PP v @ o @I @ -
(25 )
I,
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121, An electron is moving with an initial velocity t?-—uvuf and is in a magnetic field
B= Bﬂ.:r: . Then it's de Broglie wavelength.

(1) Remains constant

(2) Increases with time

(3) Decreases with time

(4) Increases and decreases periodically

T soqer FEH URANE AT v=vy & R gAY 83 B=Bj ¥ wRm ¥
§H FAUEH B 3-greh e e

(1) &= &l &

(2) ¥75 @ F1Y TEdl &

(3) 95T B ¥ T B
(4) s w9 ¥ Fed) 3k Tl §

122. The digplacement of a particle is given by x=(f - 2)” where x is in metres and ¢

in seconds. The distance covered by the particle in first 4 seconds is:
(1) 4m (2) 8m (3) 12m (4) 16m

R Y @) [N x = (t-2)° Prefea fhar e 8, W x Wex ¥ e f ves A
Myl e 2 | TR A Fes A U g A A i QA ¥
(1} 4m (2} 8m’ (3) 12m (4) 16m

123. Change in temperature of the mcdjum changes :
(1) Frequency of sound waves
(2) Amplitude of sound waves
(3) Wavelength of sound waves
(4) Loudness of sound waves
whgw @ @ IREdE ®
(1) safy T A A Rafiy & e 81
2) wafy el @ ST /€ ATl T
3) =y ¢l B OGS Iqe I g
Py ad & Tawal €&t ol B

(4)
(26)
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In a permanent magnet at room temperature :°

- (1) Magnetic moment of each molecule is zero

(2) The indivudual molecules have non-zero magnetic moment which are all

perfectly aligned
(3) Domains are partially aligned

(4) Domains are perfectly aligned

TR B Y R A o gae §

(1) 9% 39 BT gREYT ATl I B B
(2) o ST FURT B YRR g et @t § o ek R g0 &)
(3) I s Wfda 2 ¥

(4) M7 goie: TR B ¥

An il:ldl.lCtO!' of reactance 1Q) and a resistor of 2Q) are connected in series to the
terminals of a 6V (rms) a.c. source. The power dissipated in the circuit is :

1 Q ufRY @ T3 IRa o 2Q TRRMY B Rl TN Wi 6 V (rms) B TR
TR A F Ao ¥ et w31 o9y F e s @ e

(1) 8W (2) 12W (3) 14AW~ @) 18W
The moderator in a nuclear reactor functions in the following way :
(1) Absorbs neutrons (2) Absorbs thermal energy
{3) Slows down neutrons (4) Accelerates neutrons
TR et A Aqw e geR § B awar &

(1) =gt @1 arEeiny (2) T HET Y e

(3) =i @ WY W) B9 Fear & @)Waﬁnﬁﬁmﬁm%

The impurity atoms with which pure Germanium should be doped to make a
N-type Germanium :

(1) Sodium (2) Boron (3) Aritimony @) Alumin;
e WA (Ge) ®1 48 e smer wmgs) aW%JI;;m;}ag

N-YHR @ Jediad ¥ 930 a7l
(1) A= (2) SN (3) TR @) Ty

If the RMS value of the AC voltage across the secondary of the transformes

half wave rectifier is 9 vo]t Thé masimum DC voltage across AW k8
. t
any filter is about —--.E_ he load wj ithout

(1) 10V (2) 4V (3) 8V
(27)

(4) 6y

PT.O.
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feait srdo Rewrd § grawik w1 fdus § R goed o & o ma 1=
(SMRaTHTHo) favg &1 wid 9 dree 7| R W R (&owdio) fva @1 a9 Fmm
T2 W4 B (hoex) TRy T WS §

(1) 103= (2) 4qre (3) 8dree 4) 6dree

129. The moment of inertia of a body about a given axis is 1.2 kg/m®. To produce a
rotational kinetic energy of 1500 joules starting from rest an angular

acceleration o = 25 rad/sec® must be applied on this body about that axis for a
period of :

(1} Zsec (2) 10 sec (3) 5sec (4) 4 sec

f#ﬁﬂfﬁmaﬂmm%ﬁima}wﬁm1.2%?;110;’111::?%.3?1#limrqg-ieph
TR T g By @ e @iy @R o = 25 YREA/H° B 99 fivg | S
sl & uRe fhas owa o SO T ?

(1) 2% (@ 1030 (3) 5% (4) 4

130. The dimensiona) formula of universal gravitational constant G 1s :
wWAR® TewrenT e G e iy 3@ 7

1y Mr? ). M (3) Mi*T? @) M7

131.  Ar electric iron (press) marked 2 kW and 230 Volt. The resistance of the heating
clement of the press is:

(1) 62.5 ohm () 125 ohm (3) 31.25 ohm (4) 5x 107 ochm
T g I () W 2 kW @1 250 dree 3 8| 399 owe o) T SRR
&1

(1) 625304 (2) 12534 (3) 31.25 304 (4) 5x 10”3

132. Which one of the following particles will describe the circle of smalest radius
" when these are projected with the same velocity perpendicular to the magnetic

field ?
(1) Li* ion (@) He'ion (3) Proton @) Electron

Wmﬁﬁm-mwwmﬁmmqﬂmmwm
?Hﬁaﬂﬂﬂ&mﬁmﬂﬁﬁﬁwﬁwﬁﬂMW%?

et 4 ) SHagl
) Lit T (2) He* ams  (3) WEH (4) s

(28)
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133. By mistake a voltmeter is connected in series and an ammeter is connected in
parallel with a resistance in an electrical circuit. What will happen to these
measuring instruments ?

(1) None of them will be damaged (2) Both will be damaged
(3) Only voltmeter will be damaged  (4) Only ammeter will be damaged

gert W &l Rgq ofuw # 1@ v @ Sfew 4 dreefter qen TaFFR B9 §
yReTd o R e ¥ 5w SRl o @ yaE d ?

(1) & Suvl § & BIE WR A8 BT (2) I Sumn 9w @ @R
(3) Paa docAes @@ B (4) At uRPMR Wea g
134. Two point charges Q and -2Q are placed at some distance apart. [f the electric

: : G o
field at the location of Q is E then the electric field at the location of - 2Q will

be:

AR o QT 2Q 3B g WA #( TR Q B W W e Ay £ & b
2Q% ®M W gy &3 8w

(1) 2E ) -L /2 @) -F @ E

135. The knee-voltage (cut in voltage), a PN junction diode s -
(1) 0.2 volt for Si and 0.6 volt for Ge diode
(2) 0.6 volt for both Si and Ge diodes
(3) 0.2 volt for both Ge and Si diodes
(4) 0.6 volt for Si and 0.2 volt for Ge diode
feelt PN-wf srtie # #-fe (e g fawa) @ o wrr &
(1) R S @ Rre 02w qoT SRR srils @ R 0.6 2
(2) fuferam vd v gs A9 s 3 fiw 0.6 A
(3) weAfras Td RifermTT A Swire @ oy 0.29%e
(4) foferam ems  forg 06 ave Soime €T B 1Y 0.2 g

(29)
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136.

137.

138.

Which of the {ollowing statement about spectral line series of hydrogen atom is
correct ? '

(1) Lyman series is in infrared region

(2) Paschen series is in visible region

(3) Balmer series is partly in visible region and partly in ultraviolet region

(4) Balmer series is in infrared region

FEgo T @ aviEw Wl A @ weita Peafefea # @ @ duT w87
g7

(1) e soft sraved &5 § et

(2) Tar AN qeu &5 # B &

(3) TR oo orifde qa ar wer e W &3 H el ®

(4) FwR A9 Sava e o Bxh @

A concave mirror has a radius of curvature of 3 em, The distance at which an
object must be placed in order to give a virtual image magrutied by 5 times, s :
(1) 1.8cm (2) 2.5cm (3) 1.2cm (4) 3.2cm

o e Zi Y T e 3 W ¥ g B ade @ fETR g W v A
Ffs faw & srer 5 T wEl A

(1) 1.898 . (2 25 (3) 12949 (4) 329

The half life time for a radioactive substance is 5 hours. How much quantity of
the substance will decay in 20 hours ?

el Y by ward B Fgery 5ue &) 20 U ¥ &g gY wer) &) Hisr g 7
(1) 93.75% (2) 6.25% (3) 75% (4) 25%

139. The commoOn base cutrent gain a of a transistor is (.95. The transistor is

onnected in CE configuration. What would be the change in collector current
C '
when the base current changes by 2 mA ?

wiﬁggmmiiﬁwwamf’aw&mﬁm%thAqRaﬁ?rﬁH‘;
Pl ﬁnmuﬁﬂﬁﬂ‘ﬂ?

(1) 1.9mA (2) 38mA (3) 19 mA (4) 24 mA

(30)
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140. The magnetic flux linked with a circuit of resistance 100Q changes by 500
Webers in 10 seconds. The amount of induced charge (in coulombs) that flows
In this circuit during this time is
feht 1000 SRR & oRgyr # e grdy oo 10 Qo & 500 Jav & wRafFT @)
W%quﬁwﬁmﬁmﬁmaﬁaﬁﬁﬁamwmwﬁ
8

1) 05 @) 5 (3) 50 (4) 0.05

141. Five resistances are connected as shown in figure below. The effective
resistance between the points A and B is :

ﬁﬁﬁfﬁﬁﬁﬁﬁ%ﬁﬂwmmﬁ%ﬁaﬁAﬁmBa%mWﬁm%:

“ 30
“ B

4Q 602

(1) 6Q ) 150 @ Lg @ 2Lq
3 -3
142. The electric potential at a point inside a unifortnly charged spherical shell of
radius R : .
(1} is constant (2) variesasr
. 1

{3) varies as—- (4) varies as 2

Y = = r
where 7 is the distance of the point from the centze.of the shell.
Rﬁw%wawﬂm&ﬁmwwm%w%ﬁﬁmﬁgﬂm-_

(1) frate (2) r I uRaffer sy
@ T 9% wRan e @ L 9 oo o ¢
et £ e W B A W R R g 2

143. The Brewster's angle for a glass slate (it = 1.5) immersed in water (1
T (1=1333)F & B (4= 15) B ol B ol g B 2

(1) 56.31° T {2) 33.69° (3) 206° (4) 48 40
(31)

= 1.333) is

PTO
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144. In Young's double slil interference experiment the wavelength of light used is

6000A. I the path difference between the waves reaching at a point P on the
screen is 1.5 microns then at point P :

(1) second bright band occurs (2) second dark band occurs

{3) third bright band occurs (4) third dark band occurs

a1 & R afde s § 6000A FwTded F7 yary wan R mn ) Ak o
¢ PRy o ofEs aiel avnl & R g L5 HigH & @ Qg PR

(1) fata dh enfRet ol & (2) T arder enfeat feach @
(3) gty g el e € (4) gdra s enfRal fRech €

145. The plane faces of two identical plane convex lenses each having focal lengths
of 40 cms are placed against each other to form a usual convex lens. The
distance from this lens at which an object must be placed to obtain a real
inverted image of the same size (magnification unity) :

(1) 80cm (2) 40 cm (3) 20cm (4) 60 cm

10 T8 Frw 7 AR @ -3 WdE Sae o) B TEad e §6 JoR W E
&%mwﬁuméuwﬁﬂﬁﬁmeﬁaﬁﬁmﬁngmm%m
Soel IR, enafi® qeT TART BN (FeHd (@) @1 &7 o

(1) 80 (2) 403t (3) 2090 (4) 60 ¥

146. Different colours are exhibited by white light reflected from thin film of
kerosenc oil floating on surface of water because of :

(1) diffraction (2) dispersion (3} interference  (4) polarization
Wﬁaﬁmﬁaﬁﬁﬁaﬁﬂﬁwﬁaﬂﬁ?ﬁmmﬁawﬁm@aﬁ
Oy <ot @ frard agA B GRY 8
(1) Rl (2) Qe (3) wftEw (4) s

147. Two simpie harmonic motions in mutually perpendicular directions are super

imposed. If both of these motions have the same amplitude phase and
frequency. The resultant motion will be :

(1) A straight line inclined at 45° to both directions
(2) A straight line inclined at —45° to both directions

(3) A circle
(4) An ellipse
(32)
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B WER T Wl IR TR Uh-get ® aeRfa @t o & R 2 @
HRT oo T4 il w9 & ot 3ot gRomd Tify @
(1) |1 el | 45° w79 e W&

(2) =T RORT ¥ —45° ® 78 wva W@

A small solid sphere when dropped in a viscous liquid finally moves with a
uniform (constant} velocity, which is known as :

(1) Escape velocity (2) Critical velocity

(3) Terminal velocity (4) Reynold velocity
w@amﬂwm'wmﬁﬁﬁﬁmm%émm:ﬁww )
‘Tﬁﬁ'ﬂaﬁilﬂma?ﬂ'ﬂﬁ'?ﬂﬂﬁg: m
(1) e qr ) Wi 3

(3) i\ (4) Hfe®

A person moves 30 m towards North then 20 m East and then 30+2 m South-
West. The displacement of the person from the starting point shail be

(1) 20 m South-West (2) 15 m East
(3) 30 m North-East (4) 10 m West

U% A 30 A s O 20 /o el Aw 3042 B Rv-aRew g 21 IR
fAvg @ oo fAverms 8 .

(1) 20 4 efRrorofeam 2) 15%qd
(3) 30 % SerR-yd (4) 10 % af¥em

Two balls are dropped vertically downwards from rest from the same point

after an interval of 1 sec, If aeeeleration due to gravity is 10 m/ sec?, then what
Wl]l be thE]I' separatinn after 4 sec ﬁ‘om the releage of the HJ'S!‘ Ball ? ;

(1) 30m (2 Bm (3) 25m (4) 40m
2 3 B U A R W 1 R P g < FRETERT X 49 g -
T W e 10 ﬁfﬁ’@mw‘*ﬁ$%ﬁ$4%mmﬁ£1ﬁ
ot 40 217 ~ £ ;
(1) 30 (2) 35790 @5 @ g4

(33)
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SECTION - IV
grs - IV
BIOLOGY (Botany and Zoology)
ore-faeme (Fwfd vd@ mifr fAsm)
151. Match List-1 with List-1l and choose the correct answer from the code given
below .
List-1 (Discoverer) List-11 (Discovery}
A. Gener i Blood Group
B. Watson . i Penicillin
& Landsteiner iii Vaccinization
D. Fleming iv Double helix
Code ;
A B C D

() @i i i v

(2) i v 1 1

(3) ili iv 1 il

(4) i i iv i

-1 FT-I @ s fae Aoy ofR 9 Ry ge & |8 S g
-1 (o) -1 (W)

A, AN i wRe a7
B. qea i e
4 AT i} SYHTEHROT
D. yofE v IFEASE]
%e-
& B C D
(1) @i 1 oo
() i v il
(3) §ii ¥ i »
@i @ W
(34)
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152.  After birth in humans in which tissue there is no cell division ?

(1) Skeleton = (2) Nerve (3) Connective  (4) Genital
W B 418 A @ 6w suw § S B e @ e & 2
(1) %@, (2) e (3) wavh (4) =

153. Biopsy is related with :
(1) Post mortem done to know the cause of death
(2) Examining in unconscious state
(3) Separating tissues from the body for examination
(4) Treating hydrqphubia
T (Biopsy) Fafg #
(1) 7Y &1 &R 7 3 forg g Reded o=y
(2) R A Refd ¥ gliem 56 @
(3) W B Ry Tt B ¥R F =T I D
(4) TR &7 SuEaR o |

154. Which one of the following is not an absorbent organ in humans ?

{1) Nictating membrane {2) Ear Shell muscles
(3) Flat front teeth (incisors) (4) Vermiforms appendix
frt 4 /4 Bia-wr 7 § s s gEF 2 |
(1) RefeT gt (2) Fuhy wioff
(3) WO A a9 i (4) ARt Tafdewy
185. Which of the following is sciel‘-l-t-iﬁc namessf Pheretima posthuma 7
(1) Leech (2) Neris (3 Barthworm  (4) Tapeworm
Gdfes drege (.PheretimaPUGﬁmma)ﬁﬁT 4 @ T dmfae om g o
() ot o P ) Fgon @) oy
T (as
P.TO.
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156.

157.

158.

159.

An important feature of human evolution is :

(1) Increase in heart size (2) Increase in limb size

(3) Increase in brain size (4) Loss of tail

qr7a e 9 wecagel faeea &

(1) &= & oM ¥ gy (2) fora & arm N oy

(3) wRess & ama< H dfE (4) = @ gfd

Bile salts are made in:

(1) Pancreas (2) Liver (3) Duodenum  (4) Stomach
AZA TN T € ¢

(1) =Y H (2) aga # (3) T=eh A (4) 3marey ¥
In human, autoexcitable action potential is generated firstin :

(1) AVN - (2) SAN

{(3) Bundle of HIS (4) Purkinje fibres

" T | Praree frgr aaed URe S B

(1) AVNH (2) SAN ¥

) HIS? 45 # (4) TR~ FEId q

Which of the following favours the dissociation of oxygen from the
oxyhemoglobin at the tissue level ?

(1) High pCO, (2) Low pO,
(3) High H' concentration (4) All of the above
o @R R e ¥ ST P PR o Frefafes § @ oF
FHIA G¥ § 7
) ¥4 pCO. 2) = pO,
() I H™ A, (4) I W
(36)
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161,

162.

163.

Binding of oxygen to hemoglobin is known as :

(1) Oxidation {2) Reduction

(3) Oxygenation (4) Oxido-reduction
gHrafes @ %‘Q IR & o F7 W1 AT R

(1) JArdtavor . (2) s9=gH

(3) sffedafar (4) sifedre)-Reze
Inspiratory reserve volume of normal human lungs is :

WA T BE BT emreved) Rl die 2

(1) 500 ml (2) 2500-3000m! (3) 100C-1100 mi
Cardiac output is increased by :

(1) Sympathetic neurons of ANS

(2) Parasympathelic neurons of SAN
(3) Cortisol

(4) PON

&I $qF argeye ggar @ -

(1) ANS@& Rivafes =Ri=7 gRr

(2) SAN & SR <RI g
(3) »ifeHa g™

(4) PON g1

Tricuspid valve guards the blood flow between -

(1) Rt. Atria and Rt. Ventricle

(2) Lt Atria and Lt. Ventricle

(3) Rt Ventricle to pulmonazy.aztery

(4) Lt Ventricle to aorta

FFERIS AT TR HATE B! W8N Ty &
(1) =R aRRer w9 e Meova & o
(2) st orfgan vd el df@e @ iy

(3) afeht dfgwe | T IR B iy
(4) o dfgFe @ il @ 4

)

(37)
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(4) 3000-3500 mi
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164. Deoxygenated blood is carried from human heart to lung through :

(1) Pulmonary vein (2) Pulmonary artery
(3) Venacava (4) Aorta

AT IR T AT g9 1 Bwe ¥ ¥ W W 8

(1) TS By gr (2) YRR EoA gTRT
@3) ¥ Fa FW (4) vairet gRT

165. Stroke volume of normai human heart is :
T TG §3T b Y B AT 8

(1) 70ml (2) 140 ml (3} 500 ml (4) 2500 ml
166. Inactive pancreatic trypsin is activated by :
(1) HCI (2) Na*and K~
{3) Enterokinase (4) Lipase
Aftpy Sparfes faftes wae & &
(1) HOgwW (2} Nag'aur K© &N
(3) TRBIEIT BN (4) AT EN
167. Ureais secreted into the medullary interstitium from :
(1) Descending loop of Henle (2) Ascending loop of Henle
(3) PCT (4) Collecting duct
aftar Fgrd Fexedf¥em # wifda g €
(1) &0 & HER U o (2) B & IRIE W H
(3) PCT & (4) TofeeT S ¥
168. Ultra-filtration of blood takes place in:
(1) PCTof renal tubules (2) DCT of renal tubules
(3] B(}W’man‘ﬁ capsule (4) LOOP of Henle
I &1 &ﬁrm H%a g‘laT % . .
e CYETE @ PCT A (2) ¥ TyREs & DCT X
B @) B
(3) A @ LR
(38)
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169. Catecholamines are generall y secreted from :

170.

171.

172.

173.

(1) Zona reticularis

{(3) Zona glomerulosa
(1) oA ¥EgeRa &
(3) ST @A

{2) Zona fasciculata
(4) Adrenal medulla

2) W e @
(4) TEe wgen ¥

Most abundant white blood cells in human blood is :

(1) Basophils (2} Eosinophils

(3) Neutrophils  (4) Monocytes

A9 ¥RR A HQ ST G HE ¥ @ v SR

(1) dwfben (?) TR

Antibodies are produced by :
(1) Blymphocytes |

3y T l}rmphnc}rtes
e vl Bl &

(1) BfRrwramsey grr
(3) Tiomprarges grr

Nerve net system is found in :
(I) Planarians (2) Insects
7a e Ry g 9y

(1) ==Rdw § (2) de ¥
Starfish belongs to phylum :

(1) Porifera

(3) Protozoa

wRibw fa wrgem & diie am 2 2
(1) TREY

(3) Hrerra

(39)

(3 e

(4) #AeEvETETH

(2) Macrophages
(4) Erythrocytes

(2) ABBAT BT
(4) TRuNETE g™

(3) Hydra (4} Earthworms

(3) erEg & (8) Sgam

(2) Coelenterata
{4) Echinodermata

(2) fyerever
(4) @gieder

PT.0
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174.

175.

176.

177,

178.

Androstenedione is produced in :

(1) Granulosa cells (2) Leydig cells
(3} Sertoli cells (4) Sperms
(TS S g ¥
(1) IR Bl ¥ (2) AR PfRrmal 3
(3) TRTN PR | 4) WA &
Maltose is
(1) Monosaccharide (2) Disaccharide
(3) Polysaccharide (4) Oligosaccharide
AT §
(1) HeERETEe (2) SEIDUZS
(3) drARERRS (4) Jfermemgs
Heterospory and ligulate leaves are feature of : |
(1) Ferns (2) Lycopodium (3) Marsilea (4) Selaginella
Rys o v ferfere it wefor g
(1) & T ) asERIA S (3) R (4) #aforten &
Perisperm in seeds develops from
(1) Funicle (2) Nucellus
(3) Hilum (4) Ovary wall
i ¥ qRYT U (Perisperm) & € ¢
(1) waffee 9 (2) domreEg |
(3) g (4) svsrey ARY
Ramsar convention is related to conservation of :
i (3) Wetlands (4) Elephant
(1) Tigex (2) Birds
R e e W 39 e & 7
(3) JArayi (4) wri
(1) 4@ PREEEL bl
- cubssances is generally :
179. RQ of fatty Sune 2) One
(1) Less than 0 (&) Ten

ONE
(3) Morethat (40)
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TE < B HRo o (R.Q.) WTIRd BT R -

(1) U A o9 (2) T
(3) & 9 I (4) &9
180. Coconut milk is us;ed in
(1) Dairy mdtf.stries (2) Cosmetic production
(3) Fermentation (4) Tissue culture
RIS B 9 (e o) wgoa g & -
(1) & Iy & (2) <t wmm vares §
(3) fepuas % (4) Fae dnfy §
181.  Pneumatophores are found in :
(1) Mangroves (2} Cactus (3) Lichens
: (4) Bryophytes
TN O W @

(1) ¥=pa & (2) =TrTey # (3) =T H (4) svwEey ¥
182.  Polyembryony is found in :

(1) Citruq-sg P (.2) Litchi (3) Coconut (4) Tomato

(1) g (2) ot % (3) RFa # (4) TR #
183. Double stranded R. N, A, is present in :

(1) Rec vi.rus (2} Mitochondria

(3) Bacleria (4) Chloroplast

fGerg ARe o Yo T T B - |

(1) Sy arevess 7 () wrgemitEar

(3) whary A (4) TR
184. Link between Glycolysis and Kreb's cycleis :

(1) Citric acid (2) Succinic acid

(3) Acety! Co-A (4) Fumaric acia

g @ w1 9 B 9 T @ @

(1) Rie o TR R A

(3) vfafew @1t (4) TR® o

(41)
P10
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185. Primary precursor of L. A. A.is:

(1) Tryptophan  (2) Tyrosine (3) Leucine (4) Methionine
I A A. & I JIEmT & ~
(1) Igerds (2) fedrd= (3) =g (4) AfrEr=
186. During meiosis, crossing over takes place at:
(1) Leptotene stage (2) Zygotene stage
(3) Pachytene stage (4) Diplotene stage
TEE G D G BTN SR B E
(1) d=rém awen d (2) SRS savr A
(3) UHE s A (4) e s |
187. Pollination in cycas lakes place through : |
(1) Ant (2) Water (3) Bat (4) Air
TIEEHY § Y] BT 8
(1) AN grI (2) 9 ERT (3) THINTS GRT  (4) & &N

188. Lycopodium 1s commonly knownas: .
(1) Horse tail (2) Club moss (3) Quill wort (4) Stone wort
ATEHTaI STy Tl W1 @ §

(1) &4 <d (2) @@ A (3) fma a2 @) =A<
189. 1In ferns, the xylem is ‘ |

(1) Exarch (2) Mesarch (3) E_ndarch (4) Polyarch

w H &7 BT E )

(1) @ 2) Pwd (3) TSI - (4) dicher®
1680. Amino acids ére: -

(1) Negatively charged (2) Positively charged

(3) Zwitter ions (4) Cations

réey o B T

(1) ST IR :i; gATHS ST

(3) ware? A DR

(42)
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191,  Sunhemp is obtained from :

(1) Crotolaria juncea (2) Cannabis sativa

(3) Musa textilis ' (4) Cocos nucifera

g WIS B o & ~

(1) wictoRar s=far v (2) PR werear |

(3) 7T awerfora ¥ (4) Tww e
192. Opium is obtained from:

(1) dried leaves (2) roots

(3) latex from unripe fruits (4) latex from ripe fruifs

I W T @ ot @ -

(1) = oo (2) wetq

(3) 1 1% walf & eiv | (4) 7@ wal & ek |
183. The major source of methane in India is :

(1) Rice Fields (2) Wheat Fields

(3) Sugarcane (4) Fruit Orchards

(1) o= & @ . (2) 1€ =@ W=

(3) 7= (4) welt B it
194. In India, tropical rain forests are found in :

(1) Darjeeling (2) Andaman

(3) Rajasthan (4) Jamme and Kashmir

e ¥ SwIEfeTE 9 U oy ¥

(1) =R % LT (2) Fomart

(3) TRt W (4) ¥ W& PR §

195. 'Molecular Scissors' used in genetic engineérin gis:
(1) D.N.A.Polymerase: -~ () D.N. A, ke
(3) Restriction endonuclease (4) Helicase

(43)
PT.0.
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ARG SRR § wda Y gl e ) (AfdeeR W) ¥

(1) Fo To o dela @) ®o o To T

(3) dRgawH $E1gfdeivs (4) Befrast
196. The hormone present in the liquid endosperm of coconut is :

(1) Ethylene (2) Gibberellin (3) Auxin (4) Cytokinin

AR & ave YO ¥ A @ aren g €

(1) 3agaA (2) fordvetta (3) et (4) AEREE
197. The first CO:2 acceptor in Cy plants is :

Cy el § CO; &7 vem Wit 2

(1) P.EPD. (2) RuB.P. (3) P.G.A. (4) O.A.A.
198. Photorespiration takes place in:

(1) Mitochondria (2) Glyuxymr.nes

(3) Peroxisomes (4) Golgi bodies

qeB1Y 24 fhes s € 7

(1) smETrERgal (2) TR

(3) TRATRIHR @) aeh J
199. Bicarpellary gynoecium and oblique ovary occurs in ; |

(1) Mustard (2) Brinjal (3) Wheat (4) Onion

feamett Wi U4 RS SvSTTy YT W 8 - j |

(1) wwEr A (2) & ¥ (3) I A (4) @t ¥
200. Ficus is an example of which kind of inflorescence ?

(1) Spike (2) Raceme

(3) Cyathium (4) Hypanthodium

e (59 YR B TUSA H TETERY 8 ?

(1) wng (2) ¥

(3) < (4) BIgtrenter

(44)
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